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T Bharathidasan TNPSC Coaching Centre
@ Old Kalaimagal School,

PART—A : General Knowledg armapuri Main Road,
gar Theatre Bus Stop
Omaiur-636 455,

' rong pair. Cell: 9788
" ay Mg Foey Do (2) e e 071 v
(C) Velunachiyar — Sivagangal ) Katabommap - Nerkattum Seve
Saupner [@)emeTeni a;ss'm._;ﬁ?a...
(A) wnbassbunﬂ'm?l— - U”U‘ﬁgn (B) Uﬂm,ﬂm&:ﬂi!ﬂfu;m} — g-‘rciriﬂ
(C) GaugypréQuimi — Pasamions | BULQuimibingr -

CEH% Gib Gray,
2, Who discovered the direct sea route to India from Europe 2

EYE
(A) Columbus (B) Megallen %ﬁi
(C) Vasco da Gamma (D) Marco-polo ‘
eConounelelaGsg @BPwrailpeE G.!ﬁl_n.';. SLo anflenyy as@ullg gsant and »
(A) GansutbLren (B) Glsdeusr
@ unsVCaEML&TLT (D) oniGar CunCesun
3. Who emphasized the unity of Hindu-Muslim ?
(A) Ramanuja (B) Adi Shankara  (C) Kabir (D) Mecra Bai
@ibg wousSih gpmyenoen aiellupiESuiant wm 9
(A) @umoguggi  (B) @ syt (€) sudi (D) tSgm Lmidy

4. Who was the outstanding leader of Palestine Liberation Organisation (PLO) which w
formed in 1964 7

(A) Yassar Arafat {B) Robert Schuman
(C) Konrad (D) President Nasser
1964 &b 2. @aumdsrin’ 1 tnaeuBer afiGlsenw Blwssd@er wadgmer sencvat wF
@) wrsi g (B) pnuiil apoincir
(C) Ganesgar. (D) B prsi i
5. Who founded the Adi Dravida Mnhajana Sabha in 1893 7 ‘@%

(A) Rettamalai Srinivasap

(C) T.5. S. Rajan (D) V.S. Srinivasasastri
1393 &b y@Bgnai_ LETY FanL) erehigmth SfLDLITLL 2 @eundSweant wii
@) Gaen_omra) Faleymgg, (B) saumdpsi

(C) T.S.S. pugpsiy (D) V. §. eflans snaui

(B) Swamymathar

6. On which river Tehri dg,

N wag
(A) Kosi constructed 7

Gz &fl (B) Krishng (C) Narmada (D) Bhagiratht
B e s ety . C L g ?
(A) Gsnd) Onid0s st i ) Lnbod
(B) B ey (C) pioams @ . i
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7. Whi -
Which country share, o
(A) Nepal $horlest by ;
Pus R (0 Ulap rder with [ndia ? .
3@’ 5 A% erchienayany, g (C) Afghanistan (D) China
) ﬁ':-’”ﬂﬂb ﬁ-au-"f Grﬁ'g i MO u_ﬁ;ﬁi@ G}&iﬂﬁl@p@ o
@ BEraovgncs, (B) gy msir
AN . D »
8. “’]ICI"L 15 the Nationn] Jyte Board j (D) Sawa
(A) Kolkata (B) Mumh eadquarter is Jocated ?
Gzl semsh Qg R N (C) Chennai (D) Delhi
@Y Osncvsgzn (B) @Lf: MBS Ry HEMDBSIETS! T
9. Which of - (C) @Qosiromncr (D) Gusvedl
. As ich of the following is true ? &
sertion ~ A : Tam;j) : . %}
Reason - R : During ¢ N;d" ] lﬂcul::d in Deccan Ploteau. s
(A) *A’is correcy * J%' il:\ .ccous period this pan got separated and formed Gondwanaland.
{C) *R’is not related 10 ‘:\l:ong (B) *R"is correct! A’ is wrong
9 - (D) *A’and ‘R’ are correct
Sraguatangle sfunsag; siena 9
P Buspu I Lpd aeniiGb shanssy S rudich SIBHBIE
S grecengr.
Smesih @‘3':’@.@ 61" Gt Nuwav snwgSe: Sifge Gacip Cansiy _qunenn
BouLiugSuieh o mauner 9@ LGS LN SGLD.
(A) &pDay sPwresrg/aEngenid Souprang
(B) amrgsvmb sflwne eundGwib/ D5 Soipaesl
(C) smpesid "ﬂ"f”"’ afamdiaith Sjbau S BBDE Bharathidasan TNPSC Coaching Centre
&pmy wHph angeanh @uaa@ib o Old Kalaimagal - nol,
) Dharmapuri Main d,
10. Maich the following : ' Alangar Theatre E p
Hill Station State Omalur-636 <
1) Mussoorie i) Himachal Pradesh Cell: 97888 19401, 9° 117
2) Shimla i) Kerala . srathidasan M

el

i) West Bengal
iv) Uttorakhand
(B) iv, fii, i, il

3) Munnar
4) Darjeeling

(A) i, i, ifi, iV (C) v idiiii (D) iv. i, ii, i

Clm(BSSIS - .
_micolY mnzﬂau_n 0
1) :‘gmﬂeﬂ ) @uomdserndGsm 4 gﬁ
2) e iy Gspomn § N
3) qpesInDy iii) CwdG Gu‘:!rafﬂ:ﬂ 3
a . .
4) Lmighelid iv) agBosm L i

(B) v iil, ik, i

(A) i, ii, il iV

] iV. ic iir iii —
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ﬁé na frof (B) 1833 Charler Act
1. \Vhigz AL: :.n [pdian Ach (D) Minto-Morley Act
(A ove
latt Act Sz INSss
(©) RIS o @B 33 L wds
oD i 1935 (B) 1833 bl wesm 1 th

@) @sgu >

. * L_UJ
(C) Gareve- &t he kingdom of Ramnad.

: inaug“mwd l
k who (B) Muthu Vaduganathar

(D) Vishwanatha %
015

12. Name the Noy2
(A) Muthu Krishnappa
(C) Chokkanatha Nayakkar
@omosns Fppyem
® wss Raayemt
(C) GQFndapns FmubsH

(B) s a@ssnsT

(B) aflayeusngi

13. (i) The Mangulam inscription mentions the king Nedunchezhiya Pandian.
(if) The Mangulam inscriplions were depicted in Tamil-Brahmi letters.
(A) (i) only correct
(C) Both (i), (i} are wrong

(B) (i) only correct
(D) Both (i). (ii) are correct

(D) BeiGLm-wmies gL L1

(i) onsigend &Gl () uFETLY e s@EQeflucr ups & &g
(ii) g sORC® sWip-RomB sipsgidsaned QunddsLin L mas.

(A) (i) LG o
(C) (i), (i1) Quea@ied sougy

(B) (ii) b @b &
®) (), (i) @oeia@ub A

14. Which of the following slatement is truc ? % o % .
(i) In Sangam Age the Kingship was hereditary. s :"; :ag‘ 9 g %
(it) The King was called “Ko", %§ g% % S %
} , 5908 4852
(A) (ii) on{y ) (B) (i) only f_i 3¢ %%%", %
(C) Both (i) and (ii) (D) Nonc of the above &2 § 2§ 9
. » » . u 0 @ =13 a [=]
Brpseim SIS eTenay 5 cianinwmerened ? %§ ﬁ & % %%
" | =6k 3
(i) sssnoEBed Senfiens yipysenguneg: Ejﬁ = g?’x * 2
(ii) Lypaii “Gan’ erem S ELL L : % 3 =
(A) (ii) 1o G5 (B) (i) L Bib
(€) (i) wppib (i) @oetgip (D) @i agiois GV

p—
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15, Malch mﬁ; Farl (i) Calcutia 22 > §|
n) St C’eoﬂ'-c FO“ (.!!) Pondll:h’l:rr)' .U' (1) % > g__ 'é-"_
p) St Yoo Forl (iif) Chennai 300l &
pillinm . TR
c) 5:: Louts For (iv) Cuddalore ) 22 a g 3 &2
d) 5") (i i), (1) (B) (iv), (iith () (u) 5--?: £ gg = %
ety WP Y Lo
Gumﬁﬂgbagyl; Cam - () &0&5ST FYE ?:r; am ; 0 g_
a) H s 808 GamL- e~ (i1} uneng.dGedd E@ SR he 3=
b) 4 'ﬁ aflcbaftd Cemiet_ (i) Gaarmers 02 =,
S) i s quRet) GanLeni- (iv) &L_gui, o g= © 5
(,\))T;,..;, (i), Gide (1) @) (iv). (i (i) (ii) 3 =
(@) (i) (i), (i), () (D) (i), (iv), (i), (i)
rof the Armed forces of India.

16. Assertion (A): The president is the Supreme Commande : o
pemon (R) The President is the head of the State and pccupies l!}c highest position-
(A) +A'Is correcl and ‘R explains ‘A (B) “A’is correct and ‘R docs 0ol explain *A
(C)*Nis correct and ‘R’ is wrong (D) Both ‘A’ and "R are wrong
SO : GUTES Fensvalit @spw cﬂutﬁaum:.‘&mﬂcir_ ZEnGUELD SaTUH

cﬂ'ﬁlﬂ'ﬂ.

smand G uIFS geneuauit BILCL3-EH Senevalgraajth fHa awids usad
;ﬂmsum:uuﬁ.b u@aRpi.

@ &5z o8, sryesh GaDIGSTET SUIE FardsLoNELD

(B) o #78, SNGTTLD o DDISSNET gilwmet aSlendiFHLDEIGY

(C) &dp #179, Sryevith SUD)

(D) &fy, GpswILh @gsfn@:.ﬁ Saml

17. Whointroduced the Loca! Self Govemment to Indin in 1882 ?
(A)Lord Curzon  (B) Lord Wellesly (C) Lord Rippon (D) Lord ITasting

2 A yemioliysener 1882 &b @pPuwnedlay afiepalu@dPuant w7
(B) G Qeuabvael oy

(A) atssir Sy
@ touch Sy (D) Gapsivugsies 1oLy %ﬁ
18. ;Kl)“::’-‘h::lhc headquarters of BRICS Organisution lo?ulcd " Gt
Stk 1 (B) Brazil (C) Russia (D) South Africa
@ gm:‘mml.'uﬂcér Fensoenlowisih E1EIE SIPIDGGISTNE! ?
(D) L2Gg&su (C) papmm (D) @gsﬁrmmjﬁ!rﬁé&ﬂ

19. Thed;
(A) g‘:r"’:zncs belween Central Government and the S'tate Governments are ndjudica[ed by
. dment  (B) High Courl (C) President (D) Supreme Court

nlm [ -
(A) B sypamisdiseir @m;_.uﬂwnb‘!’ Fassizane Bidgs enaudgtd it gl ?

#m-ﬂ@ma-tmm w e
(C) Bl s (B) 2. wiBoeipih
——_% smaai (B) 2-4eFBuwsipid

. S e
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Iﬁa.é
20, Which of the following Stat¢
(A) Tomil Nady and Andhra

have a common High Coygy +
Pradesh (B) Kerila 4 .

(D) Mahar .nd-m"“ganu
(C) Punjab and Horyand us

hira and Gyi
. . marat
Bxpdaqayynt e wafadisa Gjém.gr::wr:r aéum,-ﬂ@ Wsingams @, Dascirems
e 2@ SrGsHLh 3% ; . ' :
(A) stipanG 10Dh B@IITCENDAB) Gagon, Loone @ ’

BRI TENTT -
SEams ook ,lv;ﬂmnﬂm (D) DETG T, .
@ wggams opn TRIN Duets g
21. Who is Greta Thunberg ? Ei

(A} A Scientist (B) A llolywood Actor El%y

(C) A’lennis Player (D) An Env :

ironmenyy
BCy e n gaQuitd esSrueud wimt ?

(A) 9@ ag5asmad
(B) 9@ apradlay” py.st
(C) @ QLditafor alpi

Activist for Climate Chag,
(-]

. N 8, E
PG LGt wiHnsHosnen errgim;é@,yasb Y Feusui = 3 5 8 =
- =,
22, What is INS VIRAAT 2 5298358
(A) Submurine (B) Warsh; %2 5o %
(C) Aircraft Carrier (D) M;s;“l.p §§ o & §'§ §
& SE. sron. aflgn SSEIDASY ergiey o ’ o ':; X g il Q
2 A ep® s (8) Gumia oy saff a8
- , . . T o 1 = 5
©) eeaans BB Ftoish (D) aa,gmﬂ: o E E %g.,a??
23. Maich (he following ; 83 °© =
(@) Pornivin § . I~ ®
e n. L‘l\'ﬂn o) S 5
(b) J\:'Iilllllmcgalui (l c‘:EEha}al Sﬂl}!nnar
((gi Kuyil Pagty ‘ ((Il; E i’;\-.l.ﬂkshml
Sivappu Kazhyh . (1) Kalki
(A) (i), (i), (v). (i) Udan Oru Pachui Paravai (iv) Subramanya Bharathi
(B) i, (i), (i), (iyy
(C) (f). (i), {iv), (iii)
(D) ), i), (ii), (iv) ,EIE_E
@U”@.-Sﬁgua; @¥;
(@) Quusian,m .
(b) mmﬂg;z;‘iz ooy (i) Ghmeon suggomi L
((fi‘) guﬂa‘a L G (f::: (;-fé;‘l’ﬂ’blﬂ 4
d) G'.LH...ILf & . : 'h.
@7 (in), fi). ﬁg)i"%%f‘m PG udens upemar (iv) sligwesiu urgH &
(B) (), (1) i), vy
(C) (i), (i), (iv), (iii)
(D) (1), (k). (i), iv)
- ——— — —--——___‘___‘“‘““‘ - "

——— —
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24. Who islodymyT 7clenskyy

(A) s yelstin

¢ President of Ukraine 2

(B) Viadimir Putin
(D) Denys Shmyhal

(€ e WIS St wat o

s :
2% g B QST (B) efleumqibit e
0 gurfes eI aT (D) Oshaflens Humbammed
5. psel 31*Jan. 2022 which State has installed highest overall rencwable energy capacity in
" Indis?
::‘;"wm (B) Gujarat (C) Maharashtra (D) Tamil Nadu
82022 & Bleveugiiny, ems wadwn HyPs Glamiarerey Smeir AFS -
i‘ﬂw&sﬁﬁ“ srfEdS O .'f’mfmr_':uz';‘ﬂ:_@sb ggmﬂuﬁ uRERDS ?
(A) shgni_sth (B) ogong (C) wamprayygd (B) sW8ps®
26. The Vacuum Flask was invented by
(A) Kelvin (B) Antoine Lavoisier ﬁ
(C) James Dewar (D) Pascal
Qeug @é@mmmm son@ iy dsaud
(A) Qasballeciz (B) yeir@e_mirssr cvaumiiraniiust
{0) Gegeoeh Saumi (D) uravsew
27, While going for a ride in merry-go-round you experience an outward pull, this pull is due to
(A} Centripeial Force (B) Centrifugsl Force
(C) Electrostatic Force (D) Magnetic Force
G Qi yeidPed sdpb Quneps), Shisdr GauslGrrédu Bensiile
oflesou 2 eamtEfiser, @djaﬂmaﬁ%ﬂ L SAgeILh o 8l
gé} ;mtu Crrdg aflens Eﬁ) e afludE allens
e fleiresfliuel) aflens (D) &ngs aflens
28. Choose the correct pair :
(53 f}‘mﬂspheﬁc pressure a. Ncwion
(iii) h?;:: b. Palscal e
p ] . Kilo melr ) -
{ ;vg Deas; g Ki loggm Bharathidasan TNPSC Coaching Centre
A) ()b (iiyc (ifi) d (iv) Old Kataimagal School,
(B} ()b (i) a (ii) d (!V a Dharmapuri Main Road,
}S) e (ii)d (iii) a E::;g @YE Alangar Theatre Bus Stop
S Omalur-636 455.
m) 0 Gi)e (i) b (iv)a it Cell: 97888 19401, 97512 14117
(ﬁ} ':f;@q?mmwé G'.sr}'tﬁﬂg@éﬁsﬂlﬁ’- . www . hharathidasantnpsc.com
(i) <id b. wrevsEsD |
(iv) ﬂ‘z;} 49 C. QGaungang’/kLﬁt'_z_ﬁ-‘ﬂ
A) )y d. &Cen&T
e iy g o
% OJ" {,3: (i) d (iv)a
g € lia vy

\\lk:_gii)-ﬂiv) n

C——

Scanned with CamScanner -



-8-

Ll d

% » the intensily of sound ?
. i . easure the inienst
29. Which unit is used 10[‘3) Light Yeur (C) Candela (D) Decibel

(A} Hertz 4 meh Senafl LG
. I ﬂ'[:ﬁ‘é SRS .'DQI
95‘5) ?Qﬁatﬂﬁdbmﬂﬂ ﬂ(m > m®  (C) Cacbrgeur @ QL0 usy
(A) Glap %
s 100°C. Its value is equal 10

0. Boiling point of waler i
’ (.‘:; ;n']b]f’ls K (B) 212°F (C) 100K (D) 200°F
&7 QsmPHma 100°C. @UuBLODGES swinreag

gm.nsx @) 212°F (C) 100K (D) 200°FT mum
&

31. James Chadwick discovered the particle is
(A) Llectron (B) Proton (C) Neutron (D) Positron

Ggbeiy sm”afld san@iiyss Sser
(A) wvdigner  (B) yGpmiemsit (@) Pyconesr (D) unedL greir
32. Statement : The reaclion thut takes place in rusting of Iron is axidaiion.

Reason : Because iron is converted to its oxjde.
(A) both Statement and Reason are correct (B} both Statement and Reason are incorrect

(C) only Statement is correct (D) only Reason is carrect
DDt @)ibry Qun@&aﬁrg;@dtq.ggaﬁd: B Glumib aflener SefgmCampw
Y GLb |

STpLD : gGlenarllch Doy ISR YIEMFB TS WIDPGURLD,
DL LopDID snpewnh @re@ih o (B) enppy todmud sngesris Quetu@ gamy

(C) smdgy o (Qun &R (D) sapesmin ot” (b & 2
33. Choose the correc) acid and its yge. . §-—‘ > &
(A) nftric acid — digestion of fooq (B) sulphuric acid — bathing sozg .§ § ‘7? .
(©) ¥inegar — preserve foq Materials (D) benzoic acid - detergents § fff ,gé'é’ :
arfiusien .‘"m‘“& LONIh ey Lussigener Gsinela® A ,%5,5 28 :
(A) enpi’ Mg Sithleuin LTy LiQunmerseflar Catfitoranb % E § .::3 X
(B) 51416 B~ gy Gonrn HIY
. SoE8E¢
~ venay Gy Ol 3 <
34. Which gas is responsibc Mainly for “Taj M'nhni' turning yellow ? .
(A) sulphur di oxide (B) ampe. (C) chlorine (D) hydrogen
gngwga){f@. IDL&_‘yer.sir Boions aeusHE S UMY WERW SrgemonSngy 9.
@) s dL yamag (B) oitbGromasflas
(C) @G’mﬂ!ﬂ‘if (D) mapL_pgsr

T - Scanned with Camscanner
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ains LPG which means ?

munly used COOkiI’lg £as conl
(B) Liquified Petroleum Gas

ost €
35 Tbcllilp\'t' ¢ Gas
(A esk proof Gas . (D) Low Phosphorus Gas
g}:]u'tﬂﬂ‘“‘ B ?wma‘ﬂm LWeHLRID senpuish QUTaTish 2 érer LPG erstrugi
(:\)\@‘”pﬁg SAeHS VY @) @gmwn&‘-a::.’:ur.'_c_ QL CGpnedlw aumu)
o aga:m!-ﬂ"ﬁ LU (D) Gephs LaeLgay aimy
16 T ¢ of the new Clllﬂ:“ Safety Mobile npp launched by Tamil Nadu Police recently is
Y (B) Kaaval Uthavi  (C) TNPOL (D) TN POLICE
ETaUED SIEDILITED 2 o s g o
I eSucir Qi (?Lq.m&as:rr LIngIS AL ST FELFE Glgm_msuct
3 B) smeush 2. gal . & (D srGUTeSen
@sﬂwﬂ"" ( = (C) 1gere1Grimev (D) iperesrGrimeOa
37. InTomil Nadu, where was mldm_'walcr Archaeological site Museum established ? %ﬁ
(A],Tﬂﬂqub“f (B) K.Ofka‘ (C) Musiri (D) Poompuhar =
£ ‘ﬂ;’l;‘;’ e Emasuh Ggrassiuch et SyprET - Flwstb SeLnESL
(A) gplisIbUITY. (B) Clandens (C) gp@d @) L thLysmi
38, FASTagat the Toll Gates uses which waves 7
(A) Infra Red Waves {B) Radio Frequency Waves
(C) Ul Violet WII'VCS (D) Micro Waves
ﬁ?ﬂﬁﬁxﬂg@{;ﬁg;ﬁfmm STl Ld-sb SThG yenew EFSEr
(A) 948 Reutie; symeaBi (B) GoypGun Semauauflens
() up sagr =i (D) musdr Syemev SBit
39, Mxl(r.:h lhcl following :
ouniry  Year of Independence
3 3Lania a) 1971 & R
) Bongldesh b) 1948 'S_._.g £§
iv)pmsmcs c) 1949 .5'3’83;,? S0
(A) d) 1947 §5Saua:
(B) b b c d oW CI:JJ 1N 9 |
o ¢ d SEBupd!
((g}'l: c d 2 SoXs8
e ZEE537°%-
G’U-,w a d e U Q-,_'(_: S )
"Cogis ST R R
. 310 o , SEXEGERL
) Watiay s55@b QUBP PG> Exsgogs
i!') o a) 1971 5 Dé__ﬂ ?-)'-gc" B
T b) 1948 B8 & 3 3
") Qg ¥ c) 1999  EP O3
Eg; ] s d) 1947
b
Cyp, 2 ¢ d
T -
™~ @ d
Scanned with CamScanner
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. Ve soTE g g o 9 %
40. Wi is the author of the book *Keczhadiyil lE—;“{’E'l'llﬂl:‘mllu.gul‘? 03 g ; :z:
(A) 8. Venkatesan ( - ode rﬂmllnnban 235388
(1) Kurhik T
(C) Vel Ramamoorthy o R Subramapivan 3 S 2e3=
‘B Calr graunl.@adr aTenD Bredlsr b fw; W o ij é = %3 b
(A) &. QeukiaBL_aar @ Gy =112 T 00 w2 o
©) a 156 D) amigg. She2 88
e grnapdd PG Sy osnilysey O 9 G x=
41. Which Indjan has won Nobel Prize in Economics o 4 Laq 3,8—%
(A) Kailash Sutyurthi (B) Muther Teresn ’%ﬁ § > 2
(C) S. Chandra Sekhar (D) Abhijiy Banerjee 0% ;o P
QuagsmzasSe Gﬁgtﬁi' udls Caveinp @@,
(A) ensaurcy sdumig (B) wsiremar @
42, Which of the following is a direct tax ?
(A) Exciseduty (B} Customs duty  (C) Inco
me tax C
Epaimarmraypoyeir g Cohps euf 9 (D) Service tax
A : : -
43 s e @ V@Lnar aufl (D) Coeney sud]
» Which disirict i i :
o c u-:: Tamil Nadu has the highest sex ratio ag Per2011 censys 2
S e (B) Nagapattinam
(C) Thlruchlmpalli (D) Thanjavur
2011 aewiQs 1ehes e .
Do Lﬁn@; STUQ, s8BsTC 1965 53 wrarls gB6 yneSex aDBseh
@) g .
. (B) praue
(C) B@éSzariucren (D; i@’ ﬂ::;q.ma.b
44. 1) Nationalisation of baps wge effected in 1969,
) ICIClis a Nationalised Bank.
52)) g n[l: Il ¥ ‘ljrue (B) Only I is true
1 Fand lare trye (D) Both I and 1l are false
I) 196 ; e e
II)) IC!C‘glsggrﬁ@ Ve E)gcy BB _enowingsch GlFwsbum iy se o drengy.
& 96 CsBluonnongamysin i i) B8
@A) 1 01" @b &) . "Sga
e ) i (B) 1 ol @ub o @B
(C) T ioppued Ul @peimgyy, ) (D} 1 wppid 1l G seuny
45. Stock Markels in Indig 2re repulated by
(A) RBI (B) Ministry of Corporate Aflairs
(C) SBI ‘ (D) SEBI
@ pumalicy ”d'.@ “Bmg aemar PupringGSgivg 8 7 . 0t
(A) @iPw Maic aumg) (B) Qi Hypiauer odausngdied symicdios

4

F= -

.. . o i
(C) avBi_r Curid L Q3B @B) @B LB oDyt Ldleuigsenen a:‘ff_‘ff’_'_
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46, TH¢ P;f;embers of Lok Sabha
(M |; pembers of Rajya Sabha

3 o ﬁw@éaﬂu@umﬁam

2 o nSariast (B) ongy

(D) prgw genudEE |4 o mdles

ment that never

(B) 2 members of Rujya Sabha
(D) 14 members of Rajya Sabhu

w sk 2 a_grcn e
(A 6 .y SIS 12 o gylnQerisar &
youse of the Parliament is known as Permanent House ol the Parlia

a7, W . issolved 7
esfil e (B) The Rajya Sabha

(D) The group of’ Ministers

i ThS LYSIRY, FM_EBLaGTDFPE FAHST ST P ILBEDS! ?
% Y]
(B) waBwmisere i
EJ%

piaaTenal e
((g J,mmiaumm (D) SyenndFiseT S

lo get the information from RTT Act, 2005 ?

is the time limit
£ (T;’;: doys (B) 25 days
(C) 30 days (D) 35 days
gand Hofleyih a Rentpd a-Lth 2005 & wig sEumaLs QUIAISHEHT STV
iy
M gmiad (B 25 pmiaar  (0) 30 prisdr (D) 35 presch
49. Theelectora! system in India has been adapted from the system ollowed in the
{A} United Kingdom (B) USSR (C) France (D) China

@38y Ggigsh (LoD b siuppiu@ib Gaige pepaamarts S

9i0é Qmneremiut. L gl

@ RifaniPeb _(B) Ganaflwg geuirrallel
(C) Bgneirafsl (D) Bsmnalla . =
50. Tmh the following : Bharathidasan TNPSC Coaching Centre
Gl . Old Kalaimaga! School,
)T:;zlfnf‘h’PACl (') 42+ Amendment Dharrnap;urii5| MaaincRgaod,
) Chss.namble (i) 2004 Alangar Theatre Bus Stop
lt-:nl Languape-Tamil (iii) 1955 ! Omalur-636 455.
) Dot Coion () Sl Nt Get 7288 10401, 7512 141
@ g}_.(u?. (i), (iv) (B) (i), (iv), (i), (ii) o '
0 ")u (WL (")' (l) (D) (IV)! (lii)! (li)- (i)
l')uq@,iﬁls 0
guu.ﬂﬂm > ] » . . ‘
7 wé g1 _1h (i) 42 eugr SwBweensliyg st sQwise H
3) ﬁ“;‘g"ﬂ (ii) 2004 R LAt
9 gy rP-E 8 iii) 19551 %
(A) (i).(:;m?f“‘“mwuq (iv) ggmaﬁﬁf-""ﬁ"’ Gzl ®©
B 1 (B) (1. (), ), (i
~21-i), @) (D) (i), Gii), (i), (i)
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Peoy ulely pundewue
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S1. Wihich is \vrt;lng}; Ti;_l;:,i::ds“:om‘ (B) Intrusive lgneous Rock - Sili
:g; ]Sg‘:jﬁfmnt; Rock - Sandstone (D) Metamorpic Rock ~ Diamond
Reupgdas aig saupns QuigsBucirag 7 :

(A) Blunmp — aswemmby) LD (B) g, By — o

(C) upeyumeny — empunaD 2O Upeny, eneugLh

S2. Mungrove Forest is located In districr,
imba (C) DI ; EI¥E
{A) Cuddalare (B3) Coimbatore \armapuri (D) Salem =
FJ|0) Pavdasa@ser LA L_GRei DO g Giraan, :
(M) sgui (B) Camubiyggni  (C) iy, (D) Greoss
53. Consider the following statements and answer the right optiog

from the given.
Assertion : Braindrain is related to educalmnally speeific se

Plyjeeyg

(A) Staternenis {A) and (B) are wrong (B) Satement (A) true, (B) wrong
(C) Statement (A) wrong, (B) trye (D) Statemens (A)and (B) are true

Beieumpin WERWAEmm g s W Csrawd) Qun G 1® Fyec S
UnéRaideng CaidQisg. @5 ? OSSO @ohonaud prcir ey

Fnday .;9;_.15.‘53; HalQugiig e EY ng‘rj@g,@a’s&ﬂu&l_ &evall g
LB i G G?gm..r‘rqu__u;g.n@m.
gﬂiﬁww{f\) LS Tiay LJWQGTouﬁéréﬂé,@ CarmevaminiSsrsnio LLDDID 558E Gy
s b

(A) gt (B) aygy M) B (A) o (B) gouzy
(A) sougy, (By o (D) aurd@unb (A) wdgys (B) o1

54. Which Country is he larges; Preduce of platinum in the world ?
f;;) India Russig (C) China (D) South Africa
LT T DU R, P . q @ 615 2
i GG Baltlufu gl ag)
(A) Q58w (D) Do (C) Pearm @ Qe g Néan

55. Drilling of o) welis is the hol, drilled in the layer of the Earth, %
Mle (C) inncr core (D) outercorc I

L} Sl g oo y ot SrenESLILERsinar 9
Sl Srelevrid Mesipysdl i .
@Gmcmm_u}_m (B) ""ma,g'@dj & ©) o G ,g;@cﬁ?"'b (D) Qeuad 5@?15}5!?.

56. Which country wi| hasy FIFA 20
: 22 Warld Cup ? :
(A) America (B) Qata, or ( Cl; Russia (D) Brazil
s B 2%y 2022 D_tug Ganlienuew BL GGG ? .
(A) SGhoddan () 5 (C) pepusn (D) BCp& "
-““—_-M
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sa

) Russt® bo eslalﬂm‘:“ls L (B) Only J\!

which [; e ©) Both 1 ond [Lare not true
wo i

1and

(C) Bo

- [ ] - - @ -
Ll QGUGTﬂﬁDU' Lﬂ‘ﬂ‘nﬁ‘“ ﬁr‘r&@.‘ﬁ‘ﬁ‘v @@.’5@ -"-—Q“JH B 5@!55@5
) NMO gret 5 95[5 g 2
7] 1%l

EIEEI
0 . E h I
ey Qengnés 24168 o
10 F:;.mnNATO o -‘1-..@ s cris DD FwneiS <0 2\ -
sac L8 | L@ <2 2 23 |
GWG m&ﬂ@ {B)I Lo . [l g rewgl < = ] g_Q_ = | shn
| B (D) 1 opgup [ 587 -E_,’_%O%%;%- s
; o1l ard 7 d@3 5225
(C)Im,w Golden Globe Awar 3900 48084
5g, Whois the first Indian u.: have won (B) Latha Mangesbkar %--‘é. € :(:3-) 3 ﬁ
() WS Sl (D) A. R. Rabiman 9285385
bromanya . . <t ? Vg . g3 VR
(C) I Balasy . : & @BBwi Wi _ 59,23 0Y
Gz GO aﬂ@;;;s QDD (PS¢ s wEGEASIT 3 % % = § %' £
A) enb, &8 &L SV . @ t. JEIDLDITGET L a9
({0)) srei. 19 uraan e ) - T IBD %E 3 % .
o = VS
‘What § theexpnnsionchAV? . . 33
Sl : (B) Unmanned Aerial Vehicle )
(A) Unarmed Acrial Vehicle u 1 Artack Vehicie X
(€) Unique Armed Vehicle (D) Unmanne
UAV @)eir ofdleundath acira ? . . - |
(A) s gd® gflwe unsaLd M&fmmnsm ® a:rrﬂum.: aurra;mu.a
(G) yeflé oMb surGeamD (D) Setnonssr(h LT QU ITEGITLD
60, Intemnational Yoga Day is celebrated on .
(A) January 30 (B) May 1
(€) June 21 (D) November 19 |
s Curst Bad embs srald Garer_m_Ou@E&ng 2
%&‘“""gf“ (B) Guo |
o

D) poubuii 19 e

61, Which hormone is associated with our immunc system ?

(A} Tnsulin (B) Th . 01
(©) Thyroxine ymosin -

Miis seni_mm (D) Adrenalin |
EMLIL] LG )
(M Rcinaafs —Tes!
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LT Dold ai” .TWPS c H
ﬁ d *Power housc of a cell*. 4/s har, Mg a;,hag 00‘70/1/}, ~
62. Assertion ; Mitochondria pre calle \T?’ molecules o 98y 7lri ”7:{ SC‘hof c"ﬂlre
Reason : They produce cnerey rich . 14?;5”-' 970 May,, 3tre o Rogor
(A) Assertion correct, Reason WIoms 05,2 1929,76 35 St
| (B) Asstrtiun wrong, Reason corect , =4 Siola %7515
(C) Assertion and Reason bath arc wmmi, - EI%‘I Ntn Dsc-1"7 75
(D) Asscrtion and Repson hoth are correct ks Copy
. Snday : entor GLraraulMundsdr ' Glasbedler whpe o aveuacr’ aTsiTgy
| SpdsIuG RS, o
amyenb : yevar Wesuappeatt QUDD ATP apevteygsaar 2_HUNESH DS
(A) wpay of, amgemd gaip (B’fa"nggu Sy, srgenstih M

(C) sadmy, srpamd Qoan@ub gaumy @ DD, Fngaad @@ o)

63. Match the following :
) Vitamin C 1) high fot
b) Avocudo 2) iron
€) Scethaphal ~ 3) fat soluble pigment
d) Carotenoids 4) Guava

(A) 2,1.3. 4 (B) 3,4,2,1 (C) 1.4,3,2 (D) 4,1,2,3
Cuing 4 st
1) 2 widsgagy C D) oiBs wyemay Glaagpiy
b) uGsGLn 2) Q@bys sz
) 8z Lypib 3) Canypoicy Sngiudsnigur B | -
) sCnlimenndi@ac 4} Glambiuyr :
(A) 2.1,3,4 (B) 3,4,2,1 © L432 ([@y4,1.23
64. A discase which weakens the hones angd makes 1 brittle js
(A) Paralysis (B) Osteaporosis (C) Fatigue (D) Nerve Impulse

SIbYEDRT oy : . . )
G)E'EI'JQ;JLEJ G Brailipds Gliis gy SHUPTMD 2 L wdspur Beancudis Glsreu()

(A) vdsamg (B) ov 13.CGwnBuaCyafien
(C) saeniiy, (D) Botbuyd gradn_cis okin]
65. Sclect the correq option : ]E'p%

Statement ~ 1 : When vepeighes are cooked in water Vitamin ~ C is lost.

Statement - I : Vigmip _ o IS water soluble in nature.

(A) Statement |and {1 are iy (13) Statement I and 11 re false

(C) Statement [ —true, 1 - false (D) Statement I - false, 11 - true

efwner aflen_enus, Ggf,',jgﬁ@_ =

D~ 1§ ENNEDEDN Ay o G, 0 ieis - C BASOLERD.
anpyy - I 1 2. idagg _ Bfleh ﬁﬂ(‘z’"{m Seirentn GlEmaiTL i ;

@) &j?ml: wrhqi?:abll &if) (13) oy | o ;ﬁmgi’ )
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use it reduces the secretion of stress hormone scereted

ﬁé g 18 good for health, beca
6. u“ﬂh' gnd makes us 10 relax. ‘ ; S
b"//n’l gland (B) Thyroid gland (C) Gastric gland (D) ymus £
e i Gy Gt gemsULY gprrr‘ernmm;sr

(M @ GV Q@
yd& B 51 & .
gitd * Sonpign et B Panaviig @0 cIgREpeL
s e e SoIG gL -
er— a;gu; - () engLoaiv ol I‘B%
10 ) ll
 anidep change in the genclic material of an organism 13 calle-d
§. bridizalo (B) Natusal Sclcction
W (D) Mass Selection
() Musmtier o eTei
gt o AiReTS B wuyGuGaia BreGger gDY @b wrpph —— o
mp&aflu@ 3! o
() sRIUDIEBL (B) @upess Cziel
@lnu.-h.cb of the following plant food is stored in stem ? é % &2 oo g
“|\) Beetroot (B) Carrol (C) Potato (D) Radish g'_:;.; o0d g," o g
FaaugeaDDIeT crd5nUPLd gotagah 2EHERA! GaihlaEemgl 7 %‘% 3 9‘_"3 §-§
(ri\ld“-@'; (B) G&?L'. - %Eiﬁ'%g%‘
@am@mm&?@y)fﬂl@j (D) (y:mcmm@ ‘ _:; G 3 gtg_j g
§9. Choose the correct pair. —?’-?’l & E:? ; a8
(A) Viamin A— Rickels (B) Vitamin D — Xerophthalmis 28 ngga
(C) Vilamin B, - Beriberi (D) Vitamin B, ~ Scurvy 2% 3 &8
itvrw Qenaranis Ggr},gt@,s@ 3N 3
(&}me%‘_ﬁs&r A - MéGlaL o (B) eneui”t 1fleir D — 8GgaLignevrbhwn
. aul e B, - AARL (D) emaur_t 1flair B~ ausitald)
' (r:}lif\ lestand WESTERN BLOT test are used to detect diséase
} h 3 . »
ﬂnﬁ,: (;:d (B) AIDS (C) Polio (D) Cholera
" Caugenar LopmiLh Qe Litesr e Gsn . .
Sy ] soen G
3o o0 i
(C LasLmis ) @ sTuI @ =
) @Wu’:ﬁ}‘ﬁ \ 0]
M. W anar QUmBLD (D) saeugm ol
A white 1
1A) ch::c light enters a medium, which colour travels with highest speed ?
2;,‘.%“' . (B) Red (C) Violet (D) Bluc
Nsgpo, . PN BRIt HUF ALY Qsvgnb Gu ) A
(A} :;b i gl eibg Fpb HHE Couss B
S L 3 .
Gy @By Aoy (C) numgn (D) Fewid
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Bharathidasan TNPSC Coaching Centre

Old Kalaimagal School, ‘
Dharmapuri Main Road,

Lo -16-
: Alangar Theatre Bus Stop
72, Thei . Omalur-636 455. t
=+ 1he mstrument used 1o detect the presence of tlectric han@7 #d B8dP1s 97512 14117
(é‘]\) Micrascope  (B) Voltmeter Q) Electwstope (D) Amimeter™=" "
ungelr aElsh (Neirays g X9} ; R :
(/\f) g}a&rgauﬂ&] 1 ST h ST @UBUUS‘?{;,;) asrt:san_.?ﬂlfl u::..lm.:._.r@gg,uu@m SHaR
© Bovaunficism y, (D) ;::;}":Z‘U‘LLLL:L.:_R
7. V=IR E]E.EI
O g

(g :; Il he ?l)q\'c formula was piven by George Simon Olym,
1 this Formula * V- stands lor potential, | slands for current and *R” stands for res;
FeSIStage,

(A) Only (i) is correct
(C) Buth (i) and (i) gre (B) Only (i) is correct
V=IR T (D) Both (i) and (ji) are incorrect

() Cuopatus sinciing mmis
b - T8 engunes . -
(i) Guays, . . E.gm""." 0T in SIQRLIITITGD | 1IN
mei'?ca::ﬂly. GoeII R V' erging g dgg’g’-’zﬁ“ o
$emguh , 'R ErGiL gy Lﬁ?air.mmt._mmll}ﬁ; gj’&gg o ey

(A) (i) o Gui
i 5 g
. . . (1) o (i1) Ffussi
4 (\’\\’l)n;il Jlrl:)c:c.arl l'usugn produces energy in (he sy 2 ! -
ydrogen to sodiym ithi
(C) hydragen 1o helium ((g: ll:;;':;:::n Iulhy.drogcn
Ben to iron

ST SISy Doevafeynoh w i DGt

! X ' @GRl 2 Hoe o 5

“.’ ggpptgi;gﬁgi@ G’{mgwfb (B)ﬁ‘ggﬁi‘;ﬁ%&;ﬁ;@gag ~I86s
i o > & aveQunh (D) AL 261l gy & nggm

(’g(:'gt.n'l;:l'pmpellunls used in rockels are ot o

e (f:gn I:f::; ;:::-:—:F;gmm (B) high temperature

Dot s - o (D) very low Iemperature

it . WEL@ S0 RgaCur Gmesd, Buwg; NG

e SauruBenaufs Badeb R o

(B) o®s. ClasruBensuufe, BB @it

(C) yanp autiuden auuieis @@a&?ﬁtb

D Hzs &®D5g Cloaniuflanasufcn ENUTICT

76. Find out whj S
which one is poy M the Food Quality and Safely Conirol Agencies 9

(A) FSSAl (B) AGMARK (C) FiCCl (D) F
esiugaraasfe o A N ) Fro
(A) FSSA] 'Sl 2_cwiqy LoHmIh gﬂ&aﬂ_@t_’u_m@ '{Q@mm,m I
8 ® acMark (@ micc ) Fpg
77. Perniclous anacmia js 4 dg:ﬁcicncy ol Vitanun,
(A) I"U'?‘” . (D) Cyinocobalomin  Eyg
(C) Folic acid (D) Vitamin K ’é%g

GlLniaiafluey Qudg, Canenzanu SHUEGEND 2 uPidads, GG

@@qu&eﬁi@ (B) dn1BanGanumeulic
(C) 2% GL1eld spfoud (W) LuMtdzga K
e | -
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orS are and :
) (B) Bacteria, Lichens
B fi ichens (D) Algae, Ltch;n; .
- » - . L) m
. AISEHE sr@gsg:a&m_@esm Dot .
,::;::m&fgr @:;,@msascif (B) Lirsile A TSEeT, mga‘sG:lZTh&m
' - L] - » m

Elgl‘i'l

Jé e for decompos

gy the e statement with reference 10 poise pollution :
3!

smcmcn
| guatemen! 1 anly true

i;) gatement 11 only true
suatement | and 11 arc true

(D) grtement [ and 11 are wTong

5 e Efss Fwre urd RS FetnpIS.

w1 . @aflenow DD @egdaensd .

and@unp- 11+ LosT Gamiaj (Lb) SipSBHE @mpé;&};pgj.
(@ wrdBuns | s @b &

(B) wadwitd i @b &
() ard@uib | LHDID 11 sfwnegt
(D) wnduid 1 oHPILD Ul geupreidl

£ 0 =
_ <2 3 2
W. Maich the following | . 9 90%
Conservation Law Year =¥ 08 & ; %
1) Prject Tiger a) 1992 % %3 %‘% =35
i) Froject Elephant b) 1999 e ] 283 %
{'U Sta.Tunlc Conservation Project c) 2020 & § E",} = %3 S
é) Indian Rhino Vision d) 1973 l%-co o ruo: S %3 g
i~d ji-a iii-b 1v-C Fa0G a3
Wisa jiic fi-d iv-b PR
{EJ!“" ii-d iii-c iv-a ?‘E gp-:—g :"
o]u"c i-b iii-a iv-d 33 @
Bags :
: @4E
5
) el l:\*ulion Law @ Year
i e g B L-LD a) 1992 2
i) 4 ‘;"59" ungEny PLL b) 1999 3
" g s LngEmiL BULD T c) 2020 4
(Mi_d U f‘iﬂﬁm_mﬁ?@as;imcﬁ ur@&ﬂfiu Bleah d) 1973}
y;,  di~a jii-b iv-¢
;¢ di-e i -
0 iy o, © ii-d iv-b
Wy di-d iioe iv-s
\"‘b iii-a iv-d

Scanned with Cam&canner



81. Fill in the blank. .
It is ofir responsibility
to save

-18-

PART-B: Psychology |

sparrows,

(B) saving

82. Fill in the blank with the suitable conjunction.

You cannot go abroad

B) until

(A) stil}

(C) ir

83. Completc the following :

If1 bad had money,

(A 1 would invest in the business

{(C) | will buy g car

84. Choose the suitable question tag,

Nobody called, ?
do they (B) didn't they (C) did they
8S. Maich the following :
a) Beauty 1) Adverb
b) Prenty I} Noun
€) Neatly ) Conjunction
d) Unless ; IV) Adjective
(A VI @1V © vy

86. Choose 1he option w
I. *Fine’ means healthy

.Fi.nc'

means
IL. In the aboye sen

ich bas logjca relevance.

€)1 Saving

You get the visa.

Bharathidasan TNPSC Coaching Centrs
Old Kalaimaga) School,
Dharmapuri Main Road,

Alangar Theatre Bus Stop B
Omalur-636 455,

Cell: 973888 19401, 97512 14117
Www bha- fhidarﬁ“mpsc.com

(P) for saving

(B) otherwise

(B) I will have deposited in the bank
T would have donated

(D) don%t they

(D)1 1v iy

| I and 11 are correct

tences, the warg ‘Fine® is the¢ xample for *Homophone®,
(A) Lis false 11 i trug P

(C) lis correct It i5 incorrect

87. Choose the appropriate worg for the following :

“any building of 8 past age, regandad o historically immportant place™,
(A) Exhibition e

88. Choose the correct passive fony,
The manager appointeq mppy office assistants.

(A) The manager

Werc appaip

(B) Many office asgistans appoinied the manager
Many office assjsians WETe appointed by the manager

(D) The malmserwga appointed §

89, Fill in the Blank.

If your fricnd nanys_

(A) Humorous

AN A clever pers
igj)/ An idle person

thinks the begy wij) happen, she is
@?‘gpﬁmisﬁc (C) Creative
90. C]'IODSC l.hﬂ correct M‘aoru‘e idjom nn COUCh po[n[u"_

Monument

ted many office assistants

(D) 1 and 11 are false

(D) Sanctuary

¥ office assistanls %ﬁ
&

(D) Frank

(B) An imporant person
(D) An ideal person
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Bharathidasan TNPSC Coaching Centre

18 ) aelst i) Lo Y .
2 g — i) ol old Kalalmggal.School,
o sFft - i) ghoo ¥ Dharmapuri Main Road,
j) it ; aDeart Alzngar Theatre Bus Stop
) Qoawd = i) 2 paflen 9 Omalur-636 455.
Cell: 97888 19401, 97512 14117

i v i
ﬁ;} o ST gﬁ
@ ii TR T | 3]
o i i '

" sLydBL @ -1 sl Glsnavguéaner, B Qercbemag Caiia

www.bhar thidar antnr ~.com

(A) Visa (B) Migration (C) Immigration @ Passport
1L gib + 2.0 ersinigemend Baigg eipss Ren_&@Lh Glamed
W) pegrdt (D) sbepdi (C) gpaufti (D) Sepdii

) gfuflseh aciigyeh Glamsbansurs 193 '
. J S5 e(pSd Bleni iy
(A) wﬂ + wlgel B) penf + g;ﬂnﬁmg
(C) peupt + Hymigoh (D) metny + whged
oo} ok - - -
K Gawdame snCsn gl enigih wgnugCu’ -@dmnguied ‘UgnugGe’ eTeltugesr

Aua(r_giir.jungu ?
{A) Byprewr GlumgmGen
(€) CuarGuwra CummGar % gts;v(ggm@un({‘a‘cm
% ‘yaris @aflun’ aaruess
nyH; &g Glgm_it
ajy | : dlmanGlusss G)grf_:igm_ ’
?@ 21 Quwllgéss Ggmi_i
EC‘)) sdor 1o, spoy 2 soumy
]
oo 1,2 & (D) sevagsin Seumy

. a

Dilenar gysbeum :

; swang Qenppm_eoy s
4] j‘;‘;ﬁg B@sss Qalgney e
.@@@@' . @Esmﬂm (D) weralsgLy USBERIEH UmeSldsms
) o S Iwaa’- @Ba6lemsbellenr Qedmentd @mltianug .. S 5'(5'7"
© L 435615 mL Qe g ug Czis6lsE.

Wiy Clgneanaaer (D) aﬂwmﬁf“"’ﬂam
Mema L6

O TP
f;:jmi’ 2ewiggin Qgm_emyd s g
k 'azd.1m§uff? Aillipdaallgyt Lavit amphs e
( s 5 e it
W B ?,@"-’-2‘““?,@" usuit Bl
Buigy o o PN U iRy
a “;djm ,@uhgmh PesTp o uificpett HIBL 18BLh- efloms 4
(ci u::i,,_gj%‘g aﬂ@“i}‘@l'ﬁ herp o_ufiipsit siamey (f) @L’SGE.@D oflewr yeLDss
v () T e aRGuTzyb Flesrp GQuouiyssit erengy L%?m ?
\\\"‘J@Lﬂgz Z?fgg@m ;_E)Gil'ap a_uf(LpeH slsmay Lag?m ?
b » » . ?
i amyib et 2 ufit I arangy Bighp
——--Q—-“-
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102,

103.

104.

105.

;

-

: LTSN nenwiR GRRA 14117
101, For the following question, various forms of o lellepsgmes arc gl"@n“‘*llﬁmc‘lc‘kﬁlmsgng

Bharathidasan TNPSC Coaching Centre
Old KaIaimagaI_SchooI,
.20- Dharmapuri Main Road,
' Alzngar Theatre Bus Stop
Omalur-636 455.

as shown by (?). Choose the missing term oul of the given altcroatives.
HUA GTZ FSY ERX ?
(C) WDQ (D) WQD

(A) DWQ @ DQW
Wity afarmafiey, LsGaiy TWds GEr@G UL s 2 draar @8k ol i,

SWpsgidseman (Rsauh el salel@is Caigs siGésayth o
=

HUA GTZ FSY LERX?
(A) DWQ (B DQW (C) WbQ (D) WQD
R is the brother of A. § is the sister of P, A is the son of S. How is R related to S 2
(A) Son (B) Brother {C) Uncle (D) Father

R ereiiaut A aflesr #Ganggt. S esiruaui P wilcir #Cangil. A srsirucud S ¢ir ey

R g_y th S Db ereiraw 2.pay penD ?
@ Lo&eST (B) sCGanggi (C) womioeir (B) siens
A watch reads 4.30 of the minute hand points East, in what direction will the hour hang points 7
(A) North {B) Norih-West (C) South-East (D) North-East '
DG & GuyangdBa teash 4.30 ST (H&)p Y ; ;

Fa D&, BB & ; 1
wesdluper e165 Hevoenus Grads) Qwé@b g @ 316(5 R
(A) an_dg, (B) an_Curgs (C) Gga@Bpdis; @ P Sipds,

If the code for 'STABLE'is 1 234 5 6 [
. d . ' B
will e e o STE O and code for *LABOUR” js 5 3 4789, then what
el
?47;55 (B) 472556 (C)472265 (D)475526
;:" EJ{; ;g u;m:.;;umn_uﬂcﬁ 'STABLE' eritugcst @l 1 23 4 § gp&ab, ‘LABOU
y @ 534789 ysaub Bpenden, ‘BOTTLE SITUg S GuSE o

(A1 472256 (B)472556 (C)47224615“‘5:DJ475526

Raja moves | i
j rom his house and walks 10 feel lowards east, tums right and walks 3 feet

Agall‘; l;.t: turns right and walks 14 feel. How far is he from his house 7
t

(A) ! ‘:_c (B) 5 fect BY4E

(C) 24 feet (D) 42 feet Eﬁ!

—— ] ' '
§ f; ifé@;ni:m fw Blipig Graa® 10 o9 5pgy (e g pt HGH
FAIUR b wyeusir eueusILDL LS 14 . T
: i ) paeit. S
aflL 1y SSIBEE STEUSISIOY @516 0a, g_cirenmc 9 © . pr-dBpacs

(A) 4549 ¥ S g,
(C) 24 ‘f’_’_f* — (R) 42 iy _

-

Scanned with CamScanner



<2)- B

owins question consists of two sets of Agures: Figure A, B, C, D constitute the
T’gﬁ’ sel. ﬁgurc 1, 2, 3, 4 constimte the answer set. There is mlauonshlp between A and B.
ﬁp‘#‘h g relntionship between C and D by sclecling suitable figure from the answer set.,

SN =1

A B C D 1 2 3 4

@46
0! (B) 2 (©) 3 ©) 4 ﬁ%ﬂ

jaah Gscnaiich @osii aflgomen e et a-draaT. cuengumiset A B,
( D rELeT Csdradfld@miL UL BISeT. cuenguL_miEe 1, 2, 3, 4 evslii &t U@Q-’J“""@ﬂﬂ‘“
L yasit A LoppId B ol QoL Cuw 86 QL] 2-eTeng- Qan@EsOITL—

gyrpunieslpbes QungsSsoneT LuB GsisCs@ss C topmith D aflesr @Fen Gl
i QgL e [Flpyuaytb.

??(l) NN

R

=

C D 1 9 3

(B) 2 (€)1 Lf@/‘;

LUy .
Lich letter will be placed at the question mark (7} 10 complete the pattern ?

A 4
[

o)

Bharathidasan TNPSC Coaching Centre
old Kalaimagal School,
Dharmapuri Main Road,

1) DK ) Alangar Theatre Bus Stop

(B) DW (C) DL Omalur-636 455.

(D). JEo7888 10471, 97512 14117
W.\.,.... | ¥ [ = =M

- C) DL
“_ & ‘ (D) DE
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@ Giagram which one of the following statcments is true ?
108. According to the given -
Magicians wodasdujuesepiyieseyq mmm
Lyl 21526 ‘LOV6L 88816 119D
4 ‘SSt 9£9-Jnl9w(g
. 01S sng aneay] lebuz)y
Philosophers ‘peoy ulep Lndeudleyq
. ' ‘looyss |ebewieley pio
Historiuns a1juag Bujy9e0) 954N ! uesEpIyRIRYg

108.

110.

-1——"‘——'_‘_'_’-—_‘\

(A) All historians are magicians o
(B; Some magicians arc philosophers as well as historians

{C) All historians are cither philosophers or magicians E4E

(D) Some historians are philosophers o
Qer@aatiur. gL 3P gpoh Bihaaa@eien siis Hyfldena oo ?

/XY 0praun®
\ I sdauaun®
urmH oS Mwd

(A) srbsvr ewgavndpr®fuweth WHFBgouny pauix
(B) 8o wiPramBasa SsFuUTHuTEaLD, ugTDDIST warsaLh 2 eTaTe
(C) erebeur c:}mmrrgb;pnﬂrﬂmgzb SRy ssgraamBunaCen siebeg LEDgaunBwnsGar
arew -

(BY 88 auwgawnpon@fwriar FSgIuens et
IfAis 1o the South of Band C js to the East of B, in which direction is A wilh respectio C?
(A) North-East (B) North-West (C) South-East (D) South-West
A ereiug) B ég Ospansand, C ereirus B de Ripdans th b e, C
Clunpigsaieng A aibg Benguiah n_sirmi oY e Bessre, Ce i
(A) au_Bppsg  (B) L Cope (C) Glgeir My @@gs&r@mm@
Choose the Venn diagram thy depicts the correct relationship m;mng the three groups.
Dogs, 'ets, Cals

Y=

(A) (B) @) (C) OOO (D) Of5

%ﬁ%g%g:ﬂmwuf ,,ﬂm”‘? 2 peoal NEsNdEd Qeuey uNgUL Fensd

gnu';escir. Qaéwﬁﬂgqﬂuﬂﬁm. Lyemerseir ‘
(A) @ (B)% o O @/
ONO®) \
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i umber ?
g' dded l0 80% of a number gives the same pumber. ant( ;)s)lhél(; (1)1
0 (B)}400 (C) 800 . L
i . 5 gal_(BLE X SEDS). SBS STETW STEIET 2
2. Gir80 gé sar” PubCuingy 9B ET6WT @mr_(_D) _;)(%l

f
P
N, mﬂmBO%
7% @) 400 (C) 800
R : -
" ext torm 10 the seque =
" 2, 25,... 38
! |5.l1?§10.2 - (B) 29 (©) 27 (D) 26
‘A} 7"30“21? 25?83 sremp Qg SiDSs 2 )y
]}.l o MR L3 (D) 26
s e 7 0% per annum is T 750,
t;wmvcl has paid simple interest on a certain sum for 2 years at 10%p
B llIIliS |.
0 £2650 (B) T 3,750 @0 @) TINI0 s eie
Oas 9O GO Qananasd g 10% eul_1g 5SS 2 %m@a&
g seeur g e QgeysEamed iseT syzeh GlGNES %G&
) 13.650 @3 3,750 (C) ¥ 3,450 (D) % 37,750
) §plmes were produced in 5 days by a company. How many planes will be produced in 18 days ?
W (B) 324 (C) 162 (D) 115 s o
i 2 HuEH Qeiytd Flmyeueid 43 cﬁ?mnm:f':a;wm.s B seiie 2 HUSS
gﬂ%}% Eaﬁ?ﬁ. i@g}ﬁymm:_b 18 prselles 2 puSH Glowwid aonamisatier
MIRERS GIGTET 7
W 125 (B) 324. @f 122 D) 115

L1 Every rational pumber is a real numbers.

0 Every real number is an irrational number.
(B) Il is correct

) 1is correct
€ both 1 and 11 are correct (D) both 1 and II are incorrect
l Sulam MRS D TETEDILD G)mu}@uiﬂ'u.r.
L@lﬁﬂ'ﬂ@ Qo Quistargzyyih eES(UPDN STET:
weirug) i (B) 1l ereirigy o
Nupgus It Goeiw@d o ) | wppib !l Qreinud saupy

4,
|
Edu'c“‘"“l?ff:l‘of Iﬁanglesmlhcﬁgurcbclow EYE % ~E
[€¢* @ . Q 1—8
’ 23%2 g
'Eogm -NLLnJ
SEL yunnel
SR 2wwE
ullﬂi - Shcavge
' (B) 12 © 13 (D) 14 2 5=E8 0
‘T = . . - . - - o _cm
@m uLﬁ@‘U Wgﬁgmm (9)5@&!7‘“"5’5577 D _GIamen. = _E_ ag g_ gg
=N gk T
o T L P
v EgEog
= Lo ®c-
=8 Pc- b5
EO0aor 270
E e g3
] R

[}

\ (M
i
| N gﬁw/}z R 14
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Bharathidasan TNPSC Coaching Centre 7
Old Kalaimagal School,

E@ 2 Dharmapuri Main Road, n
. Alangar Theatre Bus Stop
7. Which of the diagram represent the stetements ? Omalur-636 455.

Cell: 97888 19401, 97512 14117

- Some musicians are teachers :
www.bharathidacantnpsc.com

~ Some Icachers are players, but
= No musician s a player.

“ &Py ®[CD] ©[0o] @

Becum LB 151 QanPEsUul Qe
mear aundRuwmisenar @GS
= 8o Renswentaunartsch 8Pt dRwRisena GHEEpg 2
~ B o Dl stair eSlsnenusal B sFoigcy, @b E8E
T 5 Qlenswaniniiumemtagsh oleemym,  ofs e Devened m"@

A A ;
Y @] ©of0g] b

18, Check the odd one oul.

1, 8, 65, 64
(A) (B) 8

YV (C) 65 D
i‘;.i?(g:@w Tedvanen A apga. ) &
A
1 ®) 3 (G) 65 D) 64

119. Ramu ranks seventh from the (o
students are there inaclass ?
(A) 34 (B) 32

%{{5 UL Sy LB U 10 useSlet
(BLig, o andp Guoelimg, . .
n_:irmm%. <%Dreug @’—'5“‘-5"#0 Glugmysirenmy, %’J;?;Tﬂ? @L-,-ém,su;m glﬂ@%!

/ TSN Lonematme
(A) 34 (R 32 © 3 Seir

120. Find the missing charac(er from
16 12 2 9

(D) 33
the given allernatives,

(®) 22

\\___o’
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. pie diagram which depicts monthly budget of 2 family and answer the following
vﬁquﬁlions [121'123).

f
A=Food naraihidasan TNPSC Coachi"d Centre
B =Conveyance otd Kalaimagal chgg‘f
= : pharmapy i Main '
C = Clothing Alangar Theatre BUS Stop
DS AR Omalur-636 %7552'2 14417
= Sawvi . 97888 19401, 9
. B E=Saving &?’:‘W.gharatmdasantnpsc.com
1% F = House Rent
ok{0)

| B
Mﬁ' Lo ‘W"l G’fwﬂ!ﬁ L gangs smGb enLiUeLIL SesL pmiasayLb.
| upes UTESl eaumth ppsity Gacradsgpdth (121-123) aSlenL. HBS-

A A= mem
A - .
. l?% 25% B = Gunégaugsds
C=o.enL
o -
2& . 18% D = @sr GQFvaEs
. 12% E = Geullly
r b : F = of_@Qaum_cos

@monlhly income of the family is Rs. 3,080/- how much amount is spent on conveyance

m 8. 400 (B) ¢5. 360 @C} - 370 (D) ¢.325

g
'::c;‘szeﬂl is paid by the family per month ?
F:‘M:; . (B) Rs. 462 (C) Rs.430 (D) Rs. 426
l\) ;;fm@ @@@uab ceusuaray I 6 VILens Qs@éﬂ@m@ ,
".,:T.Ql_imchm @ S | © &= 1,5%1 D) 5. 426
Sl ount is spent on clothing per month 7 [@f
‘B.,,::ﬂ (B) Rs. 545 (C) Rs. 580 (D) Rs. 554
ol ij@ DL SEIE creeuaTey Qs Glewaili_y LR 7

A
P 30 (B) 5. 545 < & — @ 5. 554
o g
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the questions.
124. Results of class X of a school are given below, Study the table and answer the q
il

Yenr 1991 | 1992 | 1993 | 1994 ] 1995 | 1504
Appearead 198 | 206 | 230 | 212} 216 | 130
Passed 180 | 197 [ 210 {203 | 194 | |78

In which year was the Pass out percenlage minimum 7
(A) 199] (B) 1992 (C) 1993 (D) 1995
DG udredluSier Lggmb gy o1y eyt EBCy Can@ésul Geirened.
L QIsTanuyy LIy g5 ?.ssimﬂé@ LUweRdsah. %
(E]]

ra

N R 1990 | 1992 | 1993 [ 1994] 1095 | 7996
Canand e 198 | 206 | 230 | 212 [ 276 | 180
Cotd Quppanr | 180 | 197 | 210 203 | 194 | 178

Iy
55 Heu® CxidR i8St (Heopans 2 sitengy 9
(A) 199] @ 1992 (C) 1993 () 1995
125, Calculate he speed of the car.

] st
1100}
= o T
2 150 4 Y]
i! . fi20
ol 0
° ] 3 ) ) L 2
Tl In ey
(A) 40 km/hour (B) 50 km/hour
(C) 60 km/hour (D) Cannot be determined
srfisht Caizth ey ¢ % -
. Db}y thidasan TNPSC Coaching Centre
gl .;,,V Old Kalaimagal School,
300 4 Dharmapuri Main Road,
Alzngar Theatre Bus Stop
Omalur-636 455,
Cell: 97888 19401, 97512 14117
WWwW.bharthic Fenee.cnm
o—-’
(A) 40 O Bty (B) 50 BT Lt /100y
© " 60 @G B 4, p (B) Bhonalléadpy ung,
{ -\ '\—'_.‘-
-—"”—-'—.—-——.

L el

Scanned with CamScanner



ga'“ &

ing 3 (126-128) questions.
ing ganskrit and Maths. R and Q were

re five teachers. P and Q were eachin
jan

How
and Q were teaching

re v we
e d Sanskrit. T

b
m 4 History. S and P were \eaching Hind
EI%EI

M gths a8

E 400 dspamsh
¢-128) @RVTES @GS sSlenL_waildsayd: .
cir SLOGVBIGSLD LoDmILD SeSLE

g2
i 5
Qwieser a-cirarani. P to (b Q @A
a5 Db L < N . QSRDTIEIT-
RpriEeT: R woonk Q p@iuriger mewflgLD Loppitd T ogh Q
v . LD
?‘!9) zﬁﬁhﬂmmﬂiﬂf aflBE LoHmith FLoovBBSD 5@'5}5&]39""55” o
f“”m Lyefluflwicy wpmith suGueafley &prﬂa@pmﬁsm .
(fioamong the following teacher was leaching less {han 2 subjects ? | § . §_ § 9
S030 o
WY o 52 uBn!
| .q S (D) There jsno such teacher S+ ‘i‘ 5 &
BEEsEs
. . s o Pc m\
-g;cg,ﬁ}lﬂcumsm 2 UL RIS @G (&DaTS I EEDINTEEN. E _-g ‘% E e §
W (B) R S8FE5E88
; 2o © o0 o 2
® s D) etz PAu@D Gebmew | EO as 2
- | -g -
o0 w3
0
Yithof the following pair was teaching both Maths and History ? s
@ QandR (B) Qand S
R Pand Q (D) None of these
Y B wfMuisdr SeStd ppith IIDI LTL-Ri&dr sp9&Epriser ?
i @/Q loppLd R (B) Q oAmyb 8
b, | ‘
| quﬂ)@mQ (D) @@GU G LD @dJGInGu
7
1 5\] Qwere teaching which subjects ? ] -.4%
I, sk and Maths (B) History and Hindi
\ ) _'%gmphy and History (D) Spanish and Sanskyjt
P
—— B8, C— R :_JU'Z’_E} OB oy
(D)..‘——- O D0 gineuBBSLD
T — —

\ \\'u\""‘“ Ltommyeh mgavn‘_[pj R
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Bharathidasan TNPSC Coaching Centre |
Old Kalaimagal School,
Dharmapuri Main Road,

.28. Alengar Theatre Bug Stop
- Omalur-636 455,
. Cell: 97888 19401, S7512 14117

Answer the following 2 (129-) 30) questions based on the bnrm,b harathidasantnpsc.com

s . 020.
The given bar graph shows the population of three citics A. B and C iy the years 2010, 2015 and 2 0
Clar@aaig LIZenL. auenglini gensU Lnigsl, Erpougses 2 (129-130) Granalls @SS
aitene_, STOpEL.

QAR E&LUL Qairen Lt enL anguL$8eb 2010,2015 wHmpb 2020 &GS SEBSSTN
A, B, C wpsirny sapiisaier wisdr Qgrena Qsn

SEIULC Dareng).  @YE
3 m@
T
-§»ﬂ- 35 36. .,
3= 1 2 :
«S 1l s =/ /
$3 — / —
i1 2 = %
u e —
<

< = ) /

2010 2015 2020

[ e ¢ -

129. Which of the following cilies regisiered the greatest % variation in the population fom

20101020207
A (B) B
© C (D) BothAand B
2010 oS z; 2020 auang S155 pa0sRen wasir C3ams SPa spalpn G‘U.ZIIUITL'-.LQ.G&
o_cirens;. . Elg% 4
(A) A ® 8 BF
©) C (D) A wppitb B
130. In which ycar is the Pupulation of city B excecding that of city A by 2095 5
(A) 2010 (B) 2015
() 200 (D) Both 2015 and 2020

i i . FAL TS
5% ol B Baggflet ndaeh Glpmend, A BSOSB damen Osrenseny, oS,
20% HFSLAT 2 dicny, .,

) 2010 (B) 2015 -
(" 20 (D) 2015 topzuth 2020 OLE TN
@3‘_’:__ e e —— T e ——
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' . = B '
2 Bharathidasan TNPSC Coaching Centre

ino : old Kalaimagal School, R) -
g ,‘;;lhe followins - Dharmapuri Main Road, !
M Co.cfﬁcif!“‘ of range 1)4:3 Alangar Theatre Bus Stop -
? 1 officient of variation 2)3:2 Omalur-636 455.
il = Cell: 97688 19401, 97512 14117
32-24 3) 5 x100% wwiw.bharathidasantnnsc.com
i X
-S
. of 3 10 10 200 cm 4 L
m]lﬂll[) ) ___.--L+S
{A]4'1.2.3 (B) 2’ 3g 4, i (C} 4. 3' 1,2 (D) 1,4,3,2
| pungSSIE: - E,%‘?
fjsﬁmﬂ*‘@ 1)4:3 & pBR
mmmuml@*@&@ 2y3:2 4
o
T Zx100% %
,.nllt-{,:* 3 3 .
% o L—
: . -5 200 QlFd @b o @S 4) ——
i) 33 5@ @b _dren al@sd 4) T g |
ARE (B) 2,3, 4, | @4, 31,2 O L4Z
{ 1 Construct algcbraic cquations for the following verbal statement. '
fs{s father's age is 5 years more (han 4 times of Ravi's age- His father's age is 33.
wi-5=33 (B 5x +4 =33 © 4x+35=33 (O 5x—4=33
BerigpLD crdiGhomfd TmDDIEE QlunmSsLoneT @upsenis Fwern(@® 2 @GUTESS: .
sl gipmadler LS gesluletr quiBatr 4 LoL_RngL GiT 5 §0é dnlt— Den LS HEGLD-
e pylimalias euwSt 33 &b _
Wix-5=33  (B) Sx+4=33 @ u+s=n O 55— 4=33
11k trangle with perimeter 12 <™ can be
{(? An equilateral triangle
i) Anisosceles triangle .
N Only (i) Ics true g (B) iny (i) is true
‘q m and (ii) arc Lrue (D) (l) and (“) arc not trae
W48 SHpeTYaTer @&G&Nﬁm@aﬁﬁﬁ Lﬂ‘*“”fﬁw@' Sjentpirevmih,
O o5 swugs @psGamemTLons® Jimw“@::u'-;mb B9E
& ; > (35 TGRTLOTE Sentpt == ﬁ%%
1 W m?ggi;m ere (B) (if) o1 Gub & =
: ?%wiﬁmub (ii) o7f (D) (i) opd (i) seumy
\ 3%5;&0[ asquare is 10 cm. 111l sido is tripteds then by how many times will its perimeter
1 (e ? .
& 6u .
\ Himes (B) 4 times © me.s' _ SD) 3 times
N gg)lﬁj’"-'"" LGEth eIy 1y pen@td Guidh

| :h;f\lﬂst@m Uit 10 @E-Iﬁ@&fé@m ?

§ Sl e : i SIBE

i o e 2B ke @yucse
Tk _,.—-“'-_” ——" -

i —————
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i
coy f -30- |
E% ¢ from a deck of 52 cards ? | % a =
is Lthe bility of drawing 'xing or a queen from a deck of 3= £ S 58 i
135 ?}\'};a}':?}l}u prob :130) 13 {C) V13 (D) 844 :g-go ; U),_n' -
- . S L)
5> 90 Qs Qansin g 006 sL00wss Qunsn szl @7 34 c2an
2 - v X
G5 13Qe@uigpanes Hapaaol AT 2 | 2E2pe]
& 73 (B) 3/13 (@ 113 D) 84 m EETiee
=3 o
136. Find the odd word. _ . §§ E g 8 3 ?
(A) Arrow (B) Sword (C) Knife (D) Axc 2P EST
. . ST Bgogeo e L
33 R@SH@G1Lb Uizl &s(py. P =5 SE =
@) by (B) eumir (C) 558 (D) Gsmf = < 1
as]
137. Amange the words in meaningful sequence, :
1. Weaving 2. Cotton 3. Cloth 4. Thread
‘.A) 2;"' "3 (B) 2!4!3'1 (C) 472| l'3 (D) 3? 1'4'2
anigmgsamen yisgupsmm anflensfich GEsaub
. Qmaay 2. umss | 1. gl 4. ‘Hre
(B) 2,4,3,1 C4.21,3 D 3,1.4,2

zﬂﬁlﬁ2,4,l.3

138. There are five different houses A to E, in a row, A is to the right of B and E is to the left of
C and right of A, B is 1o the nght of D. Which of the house is in the middle ?

(A) A (B} B @ C (D) D
A g E arany 9@ avdlena b ibg) aI@ s o shenar. A stsiiug B of suu@guh, E
arastLigy C o G flgnd, A eflesr cueuPgund 2 eirangy. B arsinugy D 61 ausuBets 2 drengy.

s1bg I® pERIN o cirengy 2
,@a{ A (B) B ©C (D) D

139. In a class of 45 students, a boy is ranked 20* when two boys joined, his rank dropped by

one. What is his new rank (rom the end ?
(A) 23* (B) 26" (C) 27 (D) 28
435 wnawrauiaar Ly A eh gL g Hpanat 206ug Coaltd; Qg s 3

A " WIDpIsTTaTTE;, ;
Flipeurismei Garrrg.scu,-@ Y ) 5 P @Han@

! I ST euileng @SN GDIEIINNS], sew : .

ugg YBu graufens ergyes 2 o Lguﬂw @@EQJ
(A 25* (B) 26 @ram ©) 25+ =

140. Among 5 weight lifiers p Q,R, Sand T, Q lifis more weight than P, but fifg | .
T. Two of them can lify weighy Joss than P, S dous not it minimum amgyp sﬁ::::lg:u \lhnn
3t Who

among them 1fis the mygip. o weight ?

(A) T (B) R (C) Q (D) s

5 LEmEIHE Huisg, (P.Q.R, S toiypyer T Q i P en ol 58
ggé;@@,@”’i B, T g o @a'?}pamm sl JndG R, ::J]r':;mnf
G P8 P Gmpiy aam_aw grse eyt S GoODIzLC , e e
1 & adlehemavs @"”*ﬁ:rﬂsb. wnt 59 FUL.F L FNEGR DA o Ly,

T (B) R (C) Q (D) S
i \“'"‘——-‘
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